= = QGLAND
=f = SYSTEM

A Group Company of I=llk=T"1

Maintenance & Modifications

Quick guide for selection, sizing and ordering of EIT & HVAC support systems

Reduce MMO costs with >30%

V3

Flexible cold Quick and Easy Light weight Reduce deferment
work solutions On-site modifications support system & installation cost



We Support You!

This is your tool for selection, sizing and ordering of EI&T support
systems used in offshore maintenance and modification work.

By following the step-by-step guide you can reduce your MMO
costs with >30%.

www.oglaend-system.com/selector

Full product overview is found at www.oglaend-system.com/selector

STEP-BY-STEP GUIDE
TO REDUCING PROJECT COSTS WITH >30%

ENGINEERING PURCHASE INSTALLATION

e |dentify total load (cables, tubing, e Order using the procedure e Lift cables by using lifting straps.
HVAC and more. described at the back of the ,
e Re-use orinstall new startes.
) . brochure or produce a MTO/
e Define starter points, then select ,
BOM through company purchase e Install the support typicals.
support system.
procedures.

e Select parts for cable ladders/ e |nstall the cable ladder, cable tray

cable trays/HVAC support. *  Gallus for support - we have and HVAC.
done this since 1977. , » )
e All our systems for EI&T are ¢ Redlme original or project
pre-engineered. Calculations and Phone: (+47) 51 78 81 00 drawings.
documentation are completed E-mail: order@oglaend-system.com e Ready for as-built of DFO.
by using Mekano® loading table
below.

INSTALLATION GUIDELINES Mekano® Loading Table | [

U-support: vertical channel length 1000 mm

FO R S U P P O RT SYST E M Deflection allowance: L/200 <&— H-= Horizontal channel

Our systems are pre-engineered. The need for 3000 ® Mekano® CH100-2T2 (v, H)
further calculations in PMO projects will in most ) Ll e el s () Gl 6

2250

2
cases be unnecessary. ;é 2000
i
e  System segregation distance: 0.3 m g
e Distance between supports: Ladder <5 m, Tray <3 m % 1000
e  Maximum distance to bend or raiser: 0.6 m %
e Spare 20% capacity for future modifications 440 420
e  Fill all slots at connection points with bolts 950 500 750 1000 1950

(minimum two bolts per connection point)
Horizontal Channel Length (mm)




Mekano® Support System

Compared to UNO,
the Mekano®-system is

H-BEAMCLAMP 50

Art. no.  Weight

43% More cost effective Type SS (kg)
22% Quicker to install N Fixing Clamps 85197 0.4
30% Lighter 4 ¥ @ Beam Clamp ~ 85622" 1.2
22% Stronger (® Beam Clamp 85624** 1.7

For flange thickness up to 14 mm.
* Flange width 88-160 mm.

' ; Vg 11 Must be used with fixing clamps.
MEKANO® CHANNELS ; N ** Flange with 102-300 mm.

Must be used with fixing clamps.
Arts. sno. w(ezg)ht
(® CH100-1 1371685 5.1
(@ CH50-2T1.5 1372181 4.2

Type

H-BEAMCLAMP 100

Art. no.  Weight

Type ss (ko)
CH100-2T2 1372184 11.5
® Fixing Clamps 1372491 3.0
Length = 3000 mm.
(& Beam Clamp ~ 1372495* 3.5
Angle Bracket 1372497 0.1

FASTENERS

Qty/
pack

M6x12 1371981 200
M6x16 1306886 100
M6x20 1371982 100
M10x20 1371983 100
M10x25 1371437 100

For flange width 100-350 mm and up to 30
mm thick. Angle brackets can be used to
reinforce connectons.

* Must be used with fixing clamps.

BOLTED L-BRACKET

Art. no.  weight
Type ss (kg)

(® Boltet Starter 1306907 0.7

(@ Boltet Starter ~ 1306908** 1.3

* For Mekano® CH 50-2T1.5
** For Mekano® CH 100-2T2

Type Art. no.

CANTILIVER ARM —— HVAC CLAMP

Width Art.no.  Weight Diameter Art.no.  Weight
(mm) SS (kg) (mm) SS (kg)
100 1300055 0.3 80 87984 0.25
150 1300056 0.3 100 87985 0.28
200 1300057 0.4 125 87613 0.30
300 1300058 0.7 160 87614 0.30
400 1300059 0.8 180 87615 0.30
Width (mm) denotes the size of 200 87616 0.30
cable tray the cantiliver arm is 230 87617 0.40

intended for.

250 87618 0.40
315 87619 0.50
400 87620 0.60
500 87621 1.00
600 87622 1.10
630 87877 1.20
800 87623 1.50
900 87988 1.80
1000 87989 2.00
1250 87990 3.40




OE100 Cable Ladder System

Width Art. no. Weight Width Art. no. Weight Width Art. no. Weight Width Art. no. Weight Width Art. no. Weight Width Art. no. Weight

(mm) SS (kg) (mm) SS (kg) (mm) SS (kg) (mm) §s (kg) (mm) SS (kg) (mm) Ss (kg)
150 1371606 12.2 150 1384036 5.2 150 1371636 2.6 150 1371642 1.5 150 1384720 15.0 150 1384288 10.3
300 1371607 13.8 300 1384037 6.7 300 1371637 2.7 300 1371643 1.6 300 1384721 16.6 300 1384301 11.8
450 1371608 16:5 450 1384038 8.2 450 1371638 2.8 450 1371644 1.7 450 1384722 18.9 450 1384314 13.9
600 1371609 17.2 600 1384039 9.6 600 1371639 2.9 600 1371645 1.8 600 1384723 20.9 600 1384327 15.6
750 1371610 18.8 750 1384040 11.0 750 1371640 3.1 750 1371646 2.0 750 1384724 23.7 750 1384340 18.2
900 1371611 20.4 900 1384041 12.4 900 1371641 3.2 900 1371647 2.3 900 1384725 25.9 900 1384353 20.1

Length =3 m, Radius = 600 mm, Any required angle from 0-90°. Radius = 600 mm, Radius = 600 mm,

Any required angle from 0-90°.

also available in 6 m. 4 x M10 fastener(s) included. 8 x M10 fastener(s) included.

FLAT ELBOW 45°

Width Art. no. Weight

8 x M10 fastener(s) included. 6 x M10 fastener(s) included.

(mm) SS (kg)
150 1384012 2.7 ] ‘.
300 1384013 35 i y 2N

450 1384014 4.2
600 1384015 4.9
750 1384016 56 Y
900 1384017 6.4 = \

Radius = 600 mm, T
4 x M10 fastener(s) included. e f

DIVIDER

Tvoe Art. no. Weight
w ss (ka)

Straight 1372003 8
Flexi Riser 1372021 0.5 E—
Flat Elbow 1372009 3.7

Fastener(s) included. *Made to fit
both inside and outside risers.

SPLICE CONNECTOR ==

Tvpe Art. no. Weight
yp ss (kg)

Standard 1371681 0.3

4 x M10 fastener(s) included.
Splice with notches.

REDUCER PART

Width Art. no. Weight
(mm) Ss (ka)

150 1371656 0.8
300 1371657 1.2
450 1371658 1.5
600 1371659 1.8

BRACKETS | 750 1371660 2.1

. 4 x M10 fastener(s) included.
Tvpe Art. no. Weight y
P ss  (ka) |

SC-TW40/200 1371702* 0.4 FIXING CLAMPS END PROTECTOR EXIT PLATE COVER END COVER
SC-TW 40/375 87828 0.5 Tvpe Art. no. Weight Tvoe Art. no. Weight Width Art. no. Weight Width Art. no. Weight
yp SS (kg) Yellow Plastic 1306893 yp SS (kg) (mm) SS (kg) (mm) SS (kg)
SC-TW 40/390 1372626* =
Standard 1306889 0.08 Standard 1371723 0.7 150 1302543 7.9 150 60009 0.6
SC-TW 40/490  84171* 0.7 : )
Outside 60900 0.09 2 x M10 fastener(s) included. 300 1302544 13.2 300 60010 0.9 This poster shows the main/most used parts of the OE100 System.
SC-TW 90/213 1371700 0.5 2 x 10 fastener(s) included, HINGE 450 1302545 187 450 60011 12 For a :)L:;I:a?a\;ec;v;evsvtgr;t:in?/i:ﬁttz? view our products online:
% ; N WWW. -sy .
MO Tastener(s)ineluded: Type At ae ""(i'g)ht COVER CLAMP 600 1302546  12.2 600 60012 15
L Vertical* 1371679 0.7 Type Art. no. SS Weight (kg) a0 1302547 148 780 60013 18 Certificates, please contact us for exact application:

Standard 1302531 01 900" 1302548  17.0 900 60014 2.1

Horizontal 1371680 0.6 Lenath < 3 d*15
~ . Ventilated 2 1 — ength = o mana- 1,9 m. ' ' '
4 x M10 fastener(s) included. : CRUE 0 Cover for 45%/90° bend, Tee- and P,; ‘(’jf:’]‘;ffui f’f_f;’ Set’;g e‘;g’)”;gfiégzgaegle
*Adjust in steps of 4°. Fastener(s) included. Cross-pieces on request. ’ ’

Please note! Whilst every effort has been made to ensure the accuracy of the content, our systems and products are under continual improvement and development, therefore we reserve
the right to make changes to products or specification without prior notice. Product graphics are intended to be representative, however small differences in actual products may occur.



SPB-RF40 Cable Ladder System

CABLE TRAY FLAT ELBOW 45° FLAT ELBOW 90° ELBOW FLEXI 0°-90°

Width Art. no. Weight
(mm) SS (kg)
50 1371751 5.3

100 1371752 6.4
150 1371753 7.8
200 1371754 9.2
300 1371755 13.7
400 1371756 17.0
500 1371757 20.5
600 1371758 23.4

Length = 3 m. Material thickness
= 1,56 mm (2 mm also available).

TEE PIECE

Width Art. no. Weight
(mm) Ss (kg)

50 1371785 0.6
100 1371786 0.9
150 1371787 1.4
200 1371788 1.8
300 1371789 2.9
400 1371790 4.2
500 1302073 5.7
600 1302074 7.2

Radius = 75 mm,
6 x M6x12 fastener(s) included.

CROSS PIECE

Width Art. no. Weight
(mm) SS (kg)

50 1302628 1.0
100 1302629 1.3
150 1302630 1.6
200 1302631 2.0
300 1302632 2.6
400 1302633 4.0
500 = =
600 = =

Radius = 75 mm,
8 x M6x12 fastener(s) included.

SPLICE CONNECTOR

Tvoe Art.no. Weight
P ss (kg)

Inside fit 1371808 0.2

Outside fit 77516 0.2

Splice Plate 1371813 0.2

M6x12 fastener(s) included.
Recommended to use splice plate
for tray widths above 300 mm.

~&— Splice Plate

<&— [nside fit
<& Outside fit

Width Art.no.  Weight
(mm) SS (kg)

50 1371766 0.3
100 1371767 0.4
150 1371768 0.6
200 1371769 0.8
300 1371770 1.3
400 1371771 1.9
500 = =

600 = =

Radlius = 75 mm,
4 x M6x12 fastener(s) included.

Width Art. no. Weight
(mm) Ss (kg)

50 1371760 0.4
100 1371761 0.7
150 1371762 1.0
200 1371763 1.3
300 1371764 2.2
400 1371765 3.2
500 79036 4.5
600 79037 e1Y

Radius = 75 mm,
4 x M6x12 fastener(s) included.

Width Art. no. Weight

(mm) §S (ka)
50 60269 0.4
100 60271 0.6
150 60272 0.8
200 60273 1.2
300 60274 2.0
400 60275 8:2
500 60276 4.6
600 60277 6.4

Any required angle from O to 90°,

8 x M6x12 fastener(s) included.

STANDARD FLEXI RISER MODULAR FLEXI RISER

Width Art.no.  Weight
(mm) SS (kg)

50 1371775 0.4
100 1371776 0.5
150 1371777 0.7
200 1371778 0.8
300 1371779 1.1
400 1371780 1.5
500 1371781 1.8
600 1371782 2.1

Radius = 75 mm, flexible inside/
outside riser 0-90°, Bent by hand.

Width Art. no. Weight

(mm) SS (ka)
50 60119 0.9
100 60121 1.0
150 60122 1.2
200 60123 1.3
300 60124 1.6
400 60125 1.9
500 60126 2.2
600 60127 25

Radius = 175 mm. Flexible inside and
outside riser. Can be expanded with
multiple joints.

Z-REDUCER

Width Art. no. Weight

(mm) Ss (kg)
50 86133 0.1
100 86134 0.1
150 86136 0.2
200 86135 0.2
250 86148 0.3
300 86137 0.3

Splice connector must be used on
the opposite side of the reducer.

DIVIDER TAGPLATE

Tvoe Art. no. Weight
P ss (kg)
SPBDI-38 88077

Fastener(s) included. Length = 3 m.

HINGE

Tvoe Art. no. Weight
e ss (kg)

Horizontal 1371811 0.2

Vertical 1371814 0.1

M6x12 fastener(s) included.

COMBI RISER

Width Art. no. Weight
(mm) Ss (kg)

50 1302139 0.4
100 1302140 0.4
150 1302141 0.5
200 1302142 0.5
300 1302143 0.5
400 1302144 0.6
500 1302145 0.6
600 1302146 0.6

Inside/outside riser in 90° or 2 x 45°.
6 x M6x12 fastener(s) included.

COVER CLAMP

Tvoe Art.no.  Weight
P ss kg)

Standard  1372670* 0.02

Ventilated 70001 0.06

M6x12 fastener(s) included.
*Use 4 clamps per 3 m cover.

Tvoe Art. no. Weight
i ss (kg)

@O TAG14 1302588 0.2

®TAG12 1302163 0.1

2 x M6x12 fastener(s) included.

|
END CAP COVER /

Width Art. no. Weight
(mm) ss (kg)
50 1300732 0.1

100 1300733 0.2
150 1300734 0.2
200 1300735 0.2
300 1300736 0.3
400 1300737 0.4
500 1300738 0.5
600 1300739 0.6

2 x M6x12 fastener(s) included.

Width Art. no. Weight
(mm) Ss (kg)
50 1302603 1.8

100 1302604 3.0
150 1302605 4.2
200 1302606 8.2
300 1302607 11.8
400 1302608 15.4
500 1302609 19.0
600 1302610 22.6

Length = 83 m. Cover for Flat Elbows,
Tee-and Cross-pieces on request.

/, —
- -/
S —
- \\\~\
-~ ~ ——
~ » »\\
‘ ,_\ \
—
o 5
’ \;\"\'\;\ =
£ T —
- - 2 l \’k\\\\k
’. -
' ® »

-
-
-

This poster shows the main/most used parts of the SPB-RF40 System.
For a full overview of the SPB System view our products online:
www.oglaend-system.com/selector

Certificates, please contact us for exact application:

DNV-GL

Please note! Whilst every effort has been made to ensure the accuracy of the content, our systems and products are under continual improvement and development, therefore we reserve
the right to make changes to products or specification without prior notice. Product graphics are intended to be representative, however small differences in actual products may occur.



Hilti S-BT product kit

Fast, secure and simple fastening method for cable trays, cable ladders, tubing,
lights, grating and earthing. Ideal cold work soltuion for offshore modification and
maintenance, shipping or for greenfield projects. The stud is installed in a few
minutes time and is tested for 40 years of service life.

Includes 2 hours of product training,
held at Oglaend System or via Skype.

Art. no.: 87391

Depth gauge

Cordless drill with

— compact battery 2.6Ah

Drill bit Charger
for SB-T
o |
15 mm/M10
8NM torque tool
§ -T )
= ST
S$-CG BT
100 x nuts for 5
support —
—_ua®
—

Calibration card

100 x nuts for

earthing
100 x

SB-T studs

ORDERING

Scan QR code with your mobile phone or go to:

www.oglaend-system.com/getfile.php/1355804

Add order including art. no. and quantity

Save order form and send it to ordre@oglaend-system.com
Order using mobile phone

You can also send your order directly to ordre@oglaend-system.com, as an email.

@gleend System AS
P.O. box 1383, Engelsvollvegen 264 gYGSI.T/{ENl\a

N-4358 Kleppe, Norway

Phone: (+47) 51 78 81 00

E-mail: oglaend@oglaend-system.com A Group Company of I=ElkST=1

Order/purchase orders:
ordre@oglaend-system.com

www.oglaend-system.com




	MMO for EI&T and HVAC brochure_08.2018.pdf
	10-11.pdf



